Whirlpool WGD6400SW2 03 - BULKHEAD PARTS

BULKHEAD PARTS

W10242977 5

Whirlpool Residential Whirlpool WGD6400SW2 Dryer Parts Parts Diagram 03 - BULKHEAD PARTS
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
1 8544805 Lint Chute Assembly
2 489463 Screw, 8-18 X 1/16
3 3387459 W10080960 Washer, Support
4 347139 Seal, Lint Chute
5 90767 ﬁ:;edw_,r :;f;) i);93/8 HeX Washer
6 487909 488729 Screw
7 3196537 3196557 Panel, Manifold
8 8539889 Harmness, Flame Switch
9 8577274 Thermostat 295F
10 694089 Wheel, Blower
1 8577230 Housing, Blower
12 8546149 Clip-Heater Box
13 343641 681414 Screw, 10AB X 1/2
14 8544803 Box, Heater
15 3403140 Thermostat, High-Limit 205F

16 8544810 Collar, Lint Chute


http://www.pwslaundry.com/c-508886-residential-whirlpool-wgd6400sw2-dryer-parts-for-repair-service
http://www.pwslaundry.com/i-10418039-whirlpool-8544805-dryer-lint-chute-assembly.html
http://www.pwslaundry.com/i-10420193-whirlpool-489463-washer-dryer-screw-8-18-x-1-16.html
http://www.pwslaundry.com/i-10419599-whirlpool-w10080960-washer-dryer-washer-support.html
http://www.pwslaundry.com/i-10419897-whirlpool-347139-dryer-seal-lint-chute.html
http://www.pwslaundry.com/i-10418726-whirlpool-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10421111-whirlpool-488729-washer-dryer-screw.html
http://www.pwslaundry.com/i-10422852-whirlpool-3196557-dryer-panel-manifold.html
http://www.pwslaundry.com/i-10418489-whirlpool-8539889-dryer-harness-flame-switch.html
http://www.pwslaundry.com/i-10420116-whirlpool-8577274-dryer-thermostat-295f.html
http://www.pwslaundry.com/i-10418708-whirlpool-694089-dryer-wheel-blower.html
http://www.pwslaundry.com/i-10417233-whirlpool-8577230-dryer-housing-blower.html
http://www.pwslaundry.com/i-10417209-whirlpool-8546149-dryer-clip-heater-box.html
http://www.pwslaundry.com/i-10422596-whirlpool-681414-washer-dryer-screw-10ab-x-1-2.html
http://www.pwslaundry.com/i-10418551-whirlpool-8544803-dryer-box-heater.html
http://www.pwslaundry.com/i-10419745-whirlpool-3403140-washer-dryer-thermostat-high-limit-205f.html
http://www.pwslaundry.com/i-10419124-whirlpool-8544810-dryer-collar-lint-chute.html

17 8558890 Bulkhead, Front

19 W10136369 Socket, Drum Light Assembly

21 8544813 Seal, Lint Chute

23 8565688 Baffle, Drum

25 280010 Kit, Thermal Cut-Off

27 3934666 W10080210 Nut, 3/8 X 16

29 W10219342 Screw, Baffle Mounting

31 W10116344

N
00
o
=
N
o

Seal

33 338906 Radiant, Sensor

35 W10001120 W10080190 Nut, 3/8-16

37 8575324 W10359271 Shaft, Drum Roller Threads

39 690997 Washer, Thrust

41 3390631 Screw, 10-16 X 3/8


http://www.pwslaundry.com/i-10418550-whirlpool-8558890-dryer-bulkhead-front.html
http://www.pwslaundry.com/i-10418902-whirlpool-8066049-dryer-funnel-burner-light.html
http://www.pwslaundry.com/i-10420833-whirlpool-w10136369-dryer-socket-drum-light-assembly.html
http://www.pwslaundry.com/i-10427743-whirlpool-22002263-dryer-lamp.html
http://www.pwslaundry.com/i-10418529-whirlpool-8544813-dryer-seal-lint-chute.html
http://www.pwslaundry.com/i-10418892-whirlpool-3977373-dryer-bracket-drum-light.html
http://www.pwslaundry.com/i-10418594-whirlpool-8565688-dryer-baffle-drum.html
http://www.pwslaundry.com/i-10422699-whirlpool-8557272-dryer-drum-assembly.html
http://www.pwslaundry.com/i-10418862-whirlpool-280010-dryer-kit-thermal-cut-off.html
http://www.pwslaundry.com/i-10421395-whirlpool-3392519-dryer-thermal-limiter.html
http://www.pwslaundry.com/i-10420564-whirlpool-w10080210-washer-dryer-nut-3-8-x-16.html
http://www.pwslaundry.com/i-10418647-whirlpool-8573836-dryer-shield-exhaust.html
http://www.pwslaundry.com/i-10418322-whirlpool-w10219342-washer-dryer-screw-baffle-mounting.html
http://www.pwslaundry.com/i-10418448-whirlpool-8576468-dryer-assembly-sensor.html
http://www.pwslaundry.com/i-10421999-whirlpool-280140-dryer-seal.html
http://www.pwslaundry.com/i-10418484-whirlpool-8532165-dryer-lens-drum-light.html
http://www.pwslaundry.com/i-10421445-whirlpool-338906-washer-dryer-radiant-sensor.html
http://www.pwslaundry.com/i-10418477-whirlpool-8557242-dryer-bulkhead-rear.html
http://www.pwslaundry.com/i-10419528-whirlpool-w10080190-washer-dryer-nut-3-8-16.html
http://www.pwslaundry.com/i-10423016-whirlpool-w10314173-washer-dryer-support.html
http://www.pwslaundry.com/i-10421019-whirlpool-w10359271-washer-dryer-shaft-drum-roller-threads.html
http://www.pwslaundry.com/i-10421021-whirlpool-w10359272-washer-dryer-shaft-roller-drum-threads.html
http://www.pwslaundry.com/i-10418592-whirlpool-690997-washer-dryer-washer-thrust.html
http://www.pwslaundry.com/i-10418638-whirlpool-w10053480-dryer-bracket-lint-chute.html
http://www.pwslaundry.com/i-10420813-whirlpool-3390631-washer-dryer-screw-10-16-x-3-8.html

	Whirlpool WGD6400SW2 03 - BULKHEAD PARTS

